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The main purpose of this paper is to describe and elaborate more on the

need  to  communal  orhealthcare  for  all  in  America.  America  is  the  only

developed  state  that  does  not  provide  universal  medical  cover  for  its

citizens. The paper aims at looking at some of the general aspects on the

universal health care, the percentage population of Americans without this

cover, government commitment and the cause for hiking prices of premiums

and reduced coverage to employees. 

Beside  that,  the  paper  aims  at  describing  the  significant  problems

experienced by the state toward delivering health care services to the entire

citizens.  UNIVERSAL  HEALTH CARE This  is  the  medical  care  and services

provided  entirely  to  the  citizens  through  state  funding.  The  government

intention is to offer health services to all citizens through tax payers’money.

Some times patients may be forced to meet specific but minor costs. On the

other hand, private health care is the medical care and services provided by

private hospitals. 

This  hospitals  may  be  entirely  private  or  a  corporate  entity  with  the

government. INTRODUCTION The main purpose for universal health care for

all  is  to  provide  medical  services  to  the  entire  citizens  without

discriminations. The government offer health services on minimum cost in

order to enhance equal quality health services and medical care for all. If the

government can afford to offer a communal health care, the entire citizens

would have access to medical care. Therefore they can afford to be screened

on various diseases that are not affordable to many people. 

This  way  the  government  streamlines  and  makes  living  standards  of

Americans easy, enjoyable and they can have a longer life p. On the other
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hand, the government won’t spend too much in treating chronic infections in

the future if all victims can afford to meet the bill of such infections. On the

other hand private health services can be allowed to offer health services to

those who can meet their  conditions  and terms of  operations  since their

medical services are very expensive. Sub-problem 1: Does the provision of

health services to the entire citizens by the government meet the desired

quality of health care services? 

Sub-problem  3:  Does  the  degree  on  the  nature  of  treatment  in  public

hospitals leads to patients’ satisfaction and assurance of healthy life? THE

GOVERNMENT  OF  USA  SHOULD  IMPLEMENT  UNIVERSAL  HEALTH  CARE

BECAUSE OF THE FOLLOWING REASONS. In the first place, USA is capable of

meeting the cost of universal coverage. The government of USA needs to

adjust itself on the amount of money spent in war and defense and set aside

money for servicing universal health care for all citizens without sidelining

others. In USA, the government operates some organizations for veterans,

disabled, children and the most poor. 

Otherwise,  the  state  encourages  payment  of  health  insurances  privately

(Paul  Ramsey,  2003).  This  should  be  discouraged and  USA should  adopt

universal  health  coverage.  Another  point  is  that  US  has  been  unable  to

monitor  the  cost  of  premiums  beside  its  encouragement  to  purchase

premiums  privately.  There  has  been  a  continuous  hike  in  the  cost  of

insurance  premiums.  In  addition  to  that,  the  employers  have  reduced

coverage  to  employees  especially  in  the  civil  servants,  only  the  military

servants and government officials that are fully covered. 
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Note that American government is the main employer in this case. Because

offailureto access proper medical care coverage, most people opt to do away

with coverage especially due to high costs experienced in the process. For

example,  most  Americans  seek  coverage  through  private  bodies  through

employer-sponsored  organizations;  employees  are  not  satisfied  with  this

method. They accuse the employers for hiking the coverage levels. Again,

the current  proposals  have little  efforts  to increase coverage to the poor

workers. 

Assessment of America data shows that there is provision of a broad variety

of services in tertiary and secondary level. This is at community hospitals.

The government of USA can afford to invest in the latest technologies in their

operations.  This  is  according to the Canada Study Medical  Imaging 2004,

(64-65) available at www. cmaj.  ca Therefore,  it  is  possible to implement

universal  health  coverage without  spending  too  much on  gross  domestic

income because of advancedtechnologyapplication. (Ryan S. on the public-

private Debate, Dalhousie Medical School). 

However,  this  is  a  challenge  because the  government  of  Canada spends

more than 55% of what US spends on health care. Again, Canadians have

higher life expectancy as compared to Americans and lower infant mortality

rates. The people of US would like to have the same life expectancy and

lower infant death. However, according to statistics by Canadians institute

for health information, Canada has a fewer doctors per capita than US. But

health outcomes and expectancy are better and accessible than in America.

(Gonden H. Guyett, 2007). Therefore, America can afford to offer the same

services as Canada. 
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Actually,  the  cause  for  the  above-mentioned  differences  in  health  care

provision and diversion between these two states is because; Canada was

able to introduce a publicly funded medical system that was easily adapted.

Again; the government of Canada is able to pass her legislative bills with a

lot  of  ease.  The  US  government  honestly  provides  universal  health  care

coverage for  a  quarter  of  the entire  population.  In  USA,  the  government

operates some organizations for veterans, disabled, children and the most

poor.  Otherwise,  the  state  encourages  payment  of  health  insurances

privately 

According to report by Common wealth fund policy foundation, 43 percents

of the working populations were not covered in the 2005. As the population

increases, the percentage number increases. The negative side of it is that

uninsured people suffer great harm and torture as they try to access medical

care. If they meet the cost of hospital bills, they are overwhelmed by other

expenses. It is unfortunate that non covered individuals are unable to meet

the cost of recommended health screening unlike their counterparts who are

covered. Again they cannot access regular physicians like those covered. 

In  2004,  46  millions  Americans  were  not  covered  (U.  S.  survey  Bureau).

Under the net of income, 52 percents of workers earning 20, 000 were not

covered. The total number of people without coverage was 27 percents. Due

to lack of  insurance cover;  victims  of  chronic  infections  such asdiabetes,

cardiovascular diseases and asthma do not have access to proper medical

check up. They either do away with the dosage or take half the dose since

they  cannot  meet  the  cost.  Therefore,  universal  health  coverage  would

eliminate some of the pending problems (Collins, 2005). 
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Failure  to implement the system of  universal  coverage can lead to more

problems in the near future since the government will spend too much on

treating  the  disabled  and  chronic  infectious  diseases.  In  general  health

ministry will have lasting problems. Currently, the government of US spends

more than 15% OF Gross Domestic Product on health coverage. This is great

value and it can be adjusted to meet the basic needs in providing universal

coverage. Even if USA is a rich state, persons aging between 20-63 or 60

millions adults are not covered. 

This  exposes  the  whole  population  to  spend  too  much  on  health  care.

Insurance companies spend between 4. 5- 8. 5 percents on health insurance

premiums. This indicates that the costs of premiums on health coverage are

rising drastically than the rate of inflation or than the earning incomes of the

individuals. This makes the cost of health care very high. According to NCLR

2003, Hipic Americans are less likely to be insured than their counterparts

Africans and white people in American universal health care. 

The main cause of this racial segregations is that much of Hipic population in

America  is  composed  of  illegal  immigrants  hence  they  are  denied  that

service of coverage. The same case applies to other races in the continent.

Beside that, most foreigners in America are considered to be poor such that

they cannot offer the required standard of the working benefits to the nation.

Therefore  they  cannot  re-service  for  their  coverage  since  they  are  the

working poor who cannot offer health coverage and employees benefits to

the government. . CONCLUSION 

COMMUNAL HEALTH CARE EXPECTED OUTCOMES IN THE FUTURE The above

analysis of public health care dictates where to seek medical attention. The
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provision of quality and reliable medical care and services to all is the only

control as to where to seek help. This is what the USA is aimed at. But due to

too  much delay,  there  are  several  outcomes such as  increase of  private

health care (Jonathan L. 2006). Lack of implementing this bill on time denies

poor  patients  right  to  seek medical  care.  Again,  there  is  abuse ofhuman

rights. Failure to access health care can lead to loss of lives. 

However, it is a noble idea if the state is able to provide a universal health

care and services that are reliable withoutdiscrimination, since patients and

the entire Americans will benefit from the government. Therefore, they will

be able  to seek medical  attention  where  they are assured of  safety and

better  outcomes  as  a  patient.  However,  it  is  very  true  that  America  is

composed to a large number of ethnicity backgrounds. However, all citizens
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